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1. Answer/Fill in the blanks of the following :
1x5=5
(a) Name the maximum  sugarcane
producing State in India.

(b)

refinery is the oldest oil refinery
of Asia.

(c What is the full form of TISCO?

(d) Green Revolution was first introduced
in India in the year —.

(e) —— is a process by which the rural
agrarian society gets transferred into
urban society.
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2. Write short answers of the following : 4x3=12

(a) Write about the White Revolution in
India.

(b) State the scope of tourism industry
in India.

(c) State the importance of forest resources
in North-East India.

UNIT—I

( Agriculture, Industries and Transport )

3. Give an account on distribution of iron and
steel industry in India. Write briefly about
the problems of iron and steel industries

of India. 8+2=10
- Or
Discuss critically the salient features of
Indian agriculture. 10
UNIT—II

( Socio-cultural Structure )
4. What do you mean by growth of population?
Discuss briefly the growth of population in
pre- and post-Independent India. 2+8=10
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Or

Describe briefly the distribution of
population in India. Why is the Ganga-
Brahmaputra  Valley region thickly
populated?

UNIT—III
( Economy of North-East India )

“In spite of being rich in mineral resources,
North-East India still legged . behind
in industrial development.” Discuss the
statement and state the factors responsible

for it.

Or

Give an account on the scope of agro-based
industries in North-East India.
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